

Apartment in Swieqi



Swieqi, Sliema and St Julians Surroundings



€420,000

Reference No: 240171006-1749

 Total Rooms: **7**

 Floor Area (m²) : **120**

 Bathrooms: **2**

 Bedrooms: **3**

Apartment - For Sale - Swieqi

SWIEQI - Modernly furnished apartment in a most desired area. Layout consists of a spacious open plan kitchen/living/dining leading to the main bathroom, laundry room, 3 bedrooms with main having an en-suite and 3 balconies. This great property is being sold fully furnished including linen, towels, cutlery and 4 A/C units. Optional 1 car garage is available at €35,000 with a separate storage. Highly recommended!

Features

Rooms

- ✓ Kitchen/Living/Dining : 4.8 x 8.7 m (41.76 m²)
- ✓ Single Bedroom : 4.8 x 3.8 m (18.24 m²)
- ✓ Single Bedroom : 3.63 x 3.9 m (14.16 m²)
- ✓ Single Bedroom : 3.35 x 4.1 m (13.74 m²)
- ✓ Bathroom : 2.1 x 2.5 m (5.25 m²)
- ✓ Bathroom Ensuite : 1.2 x 2.1 m (2.52 m²)
- ✓ Laundry : 1.1 x 2 m (2.2 m²)

Gallery







Philip Incorvaja

RE/MAX Specialists - Tigne Point

M: 79426774

E: philip@remax.com.mt

T: 21339121

RE/MAX Specialists - Tigne Point

RU21A, The Point Shopping Mall, Tigne Point, Sliema, Malta